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�ا�� درس — ی� ���ر�� ���ی�

����ی�.١ ��� در {a, b, c}��
ا�� �� را زی� ��ا��

S → S c A

S → S c B

S → ε

A → a

B → b

B → ε

��د.١.١ ���ی� را �ن LL(1) ��ا���ری �� �ان�� �� ده�� ����� را ��ا�� ای  ���ز �رت" در

٢.١.��$� �
%�&� ��ا�� ای  ��ا� را LL(1)ول�)

٣.١.��$� ���ی� را «ccacb» ���ر+ ,
- /01- (�ول از ا%���د2 ��

٢34 از +��/56ی� 70),08 �� ده�� ����� �ر�9" �� را ��ا�� دارد. ا�;�م ��ا�� ای  ده�� �>�ن ����ی�. ��� در را رو��و ��ا��

.�+�� (Left-associative)
S → S + S

S → id ( S )

S → id

�ی��1.٣$�Recursive Descent ���ی��� ی= ��ا�� �ن ��ا� ،,
- %?ال در 2�+ ���ا%@ �����ات از �A�


